SUBSTITUTION IN FORMULAE

Use the value of 7 on your calculator. Give your answer correct to one decimal place when needed.

1 If P=2(l+b), find the value of P when =20, b= 12.
Po2(20+12) = 2x 32 =64
3 If F=ma, find F when m =50, a=0.2.

F_ 50x0.2 = 10

4 up=%+3z,ﬁnd; (@) Fwhen C=60 (b) C when F=41.
g F= 160 +32=l0 b)) F-32-5C m C 5(F-32)

> C = S(F 37_),_5_(“—32) )

5 If A=nr’, find A when r=3.5.

A-Tx (350 = 38.5
9 Ifs=ut+—12-alz,ﬁnd: (@) swhenu=5,a=6,t=24 (b) awhens=50,1=25,u=10.

%) d=5x 24+l x6x 247 | B) A-ut =Lat® o at?o2(s-ut)
Z
A=71.3 o=2_ Aud:_Z /50 IOxZS) &
3 2.5*
13 Ifr—J_ find: (@) rwhenA=154 (b) A whenr=1.75.

/F:W_:S;_z"—:?‘o L) r

i\

mo A =wr*

a(r’—l)
18 IfS——-——-—-—— find Swhena=5,r=3.

S = 5(334) _ 5X26 -5x13 =65
32— 2-

22 IfP= ZRS-V,ﬁnd: (@) Pwhen R=50, V=20 (b) Vwhen P=0.2, R =20.

}P \/2,)(50 20 L} PL 2R-V o 2R-V= 5P o V=20 _5P*

5
P L Ve 2520 - 5x 02"
V=398
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